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_ .+ If the policymaher and privale agenls act given the behavior of the

sl ather. A Lhe policymaker’s goal is to minimize the [olluwiog loss
function

L =(1/2aly-Y ¥ + (172065

hy chonsing Lhe price level subject to  p=8(p-f);

and the private agenls’ problem is to minimize the following loss
function

L=p g}

by choosing pf subjecl Lo Lhe optimal behavior of the palicymaker. Whal
is the Mash equilibrium for this problem?{y iz oulput. p is the price
level, p is the expecled price)
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1. (Hypothesis Testing:) (40%)

(2) Write doem the basic components which constitute a testing
procedure? (0%}

{b) Define “the beat critical region of size o7 (10%)

{v) loterpret your definition above in terma of A preference on two
comunedilies, ie., e(type-l error) and #{type-1T error). Specifi-
cally, you should point out the type of preference corresponding
to the idea behind “the best critical region of size a”. Ts it
possible to draw Lhe ulility lunction? If not, why? (15 %)

(A} What is the corresponding budget constraint? {5%)

[e] What is the relation between the Neyman- Pearson Lemma and
the best eritieal region of size ot [R%)

2. (Econometric Modelling:) [15%)
DMizrusa the use of simplicity in statistics as well as ils praclical role
in econometric modelling? {15%)
i. (Linear Algebra:) {15%)
et L+ V' + ¥ he an operator with distinct eigenvalues Ay aud A
corresponding to eigenvectars v and vy, respectively. Prove that v,
and v; are linearly independent. [15%)
1. (Dynamic Systems and Differential Equations:) (15%) -'j
Solve the following linear differential equation: T
" ' . | ﬂ’-
¥ 44y +jy—u,y[ﬂ]—ﬂ,y[{lj—l [l.:l ih
:
6. (Analyala:) (15%) *
Compute the Fouriea aeries of the funetion ]
: ]
flz) =l z| on [-x,x] 2
h
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